RoboRIO Breakout Board
Team 3044, 0xBE4
Ballston Spa, NY 12020
1/4/2016

Team 3044 (0xBE4) developed a breakout board for the RoboRIO controller used with FIRST FRC robots.
We did this for the following reasons:

Our experience was PWM and other connectors plugged into the 3-pin headers had a tendency
to work their way loose during normal robot operation. Clamping them down was awkward.
For all digital 1/0, we would like to have a visual indication of the digital state of the line. This is
a big help when trying to debug the robot. A visual indicator goes a long way to answering the
question of whether the problem is in software or hardware.

We want to make use of the MXP expansion port as robots move toward more digital I/0.

We want to make +12V available for sensors without creating wiring clutter.

We want to avoid the use of connectors that require delicate crimp connectors that are difficult
to debug.

The breakout board we developed has the following features:

All of the headers (the connectors with standing pins) are captured by the breakout board and
brought up to Weidmuller spring-loaded connectors on the PCB. This includes the 12C port, the
RS232 port, the digital I/0, the RSL, the relay outputs, the analog inputs, and the PWM outputs.
The MXP port is also captured by the breakout board.

All digital I/0 lines have +5V and +12V available at the corresponding Weidmuller connector.
All digital I/0O lines have an LED that indicates the state of the line.

+12V power is brought directly to the breakout board, with a dedicated connector to transfer
+12V power to the actual RoboRIO.

The +12V power for the RoboRIO and the breakout board is protected by two 5A fuses, one for
the RoboRIO, and the second for the breakout board.

Each +12V channel is indicated by an LED to help with troubleshooting power problems.

Eight (8) of the digital I/O for the MXP expansion port are configured for shaft encoders,
capturing two digital I/0 lines in each Weidmuller connector.

Holes in the PCB are available for standoffs to support the PCB beyond the footprint of the
RoboRIO.

Holes in the PCB are available for securing wires to the PCB.

The breakout board is not able to modify any control signals that might be used to control motors,
consistent with FRC robot rules.

The schematic and PCB layout files are available in compressed form. The PCBs need to be ordered
through ExpressPCB (http://www.expresspcb.com/).

The following pages provide:

A bill of materials (BOM) for the breakout board.

Pictures of the unpopulated breakout board.

Pictures of the populated breakout board.

A picture of the breakout board installed on the RoboRIO.


http://www.expresspcb.com/

e The recommended assembly order for the breakout board.
e The schematics of the breakout board.
e The PCB traces of the breakout board.

The BOM for the breakout board.

Quantity | Part Value Ordering Info
51 U1, U2, U3, U4, U5 74AHCTO04 | Digikey 296-4642-1-ND
5| 6-32 screw Digikey 36-9903-ND
7 | €1, 2, C3, 4, C5,C6,C7 0.1u Digikey 445-13749-1-ND
4 | 185, )86, 187, 188 Digikey 609-3461-ND
D1, D2, D3, D4, D5, D6, D7, D8, D9, D10, D11,
D12, D13, D14, D15, D16, D17, D18, D19, D20,
28 | D21, D22, D23, D24, D25, D26, D27, D28 Digikey 67-2225-1-ND
R1, R2, R3, R4, R5, R6, R7, RS, R9, R10, R11, R12,
R13, R14, R15, R16, R17, R18, R19, R20, R21,
26 | R22, R23, R24, R25, R26 402 | Digikey 985-1260-1-ND
2 | R27,28 2k Digikey 985-1267-1-ND
R28 2k Digikey 985-1267-1-ND
1|11 Digikey A102196CT-ND
2 | 4-40 screw Digikey H703-ND
125 Digi-Key $7035-ND
J3,J5,17,)9,J11, )13, J15, J17, J19, )21, J23, J27,
129,31, 133, 135, J37, J39, J41, 143, 145, )47, JA9,
29 | J51, )53, J55, 157, J59, J61 Digikey $7036-ND
1)1 Digi-Key S7037-ND
1|1J63 Digikey SAM1212-17-ND
2 | F1,F2 5A Digikey SF-1206F500-2CT-ND
5| J26,176,177,183, 184 Weidmuller 1825640000
14,6, 18,110, 12, )14, )16, J18, J20, J22, )24,
128,130, J32, 134, 136, J38, J40, J42, )44, )46, )48,
150, J52, J54, 156, J58, J60, 162, 178, 179, 180, J81,
24 | )82 Weidmuller 1825650000
12,16, 18,110, J12, )14, )16, J18, J20, J22, )24,
164, 165, 166, 167, 168, 169, 170, 171, 172,173, )74,
23 | J75 Weidmuller 1825660000
5 | 6-32 threaded standoff 0.875in long Digikey 36-1816-ND
5 | 6-32 machine screw Digikey 36-9903-ND
5 | 6-32 star lock washer Digikey H240-ND
2 | 4-40 machine screw Digikey H703-ND
2 | 4-40 star lock washer Digikey H236-ND




The top of the unpopulated breakout board.

00020000 O




BO0O00 Booo

The bottom of the unpopulated breakout board.




<10
(] ]+ B
*]*]*
R
[SES)Y
alelals B3NSR NN s ana uum

Il D D p o D ‘ s]e]¢]
““!'Ut:!:!\f x D D - .

‘A
€

.

pnnn

€
®
€
®
®
)
®
S

alalals

>

A

The top of the populated breakout board.




The bottom of the populated breakout board.

®
®
O]
)
O
O
9]
©
@)




45

AN
<5
ad

== L(GRN)
H (YEL)

;4humu,;m

HHHH r'y

o tl"!l!]-
THEPS ey e
ons ey e

| OO0E yan pEs
5 77‘51 ‘NLB!H&

o nd el

eJle] Gielelel

The populated breakout board installed on the RoboRIO.

10000000

.
‘




Assembly order for the PCB is based on populating the components on the bottom of the board first,
then adding the components on the top based on how close they are to the board. The smallest
components are populated first. Assembly order for the PCB:

1.
2.

Noukw

10.

11.

12.

13.

14.

15.

Inspect PCB for any shorts. Be particularly careful to inspect vias that are tightly packed.
Populate the sockets into the RoboRIO. This included the 12C, R$232, 10 DIO, RSL, 4 relay, 4
analog input, 10 PWM, and the 34 pin MXP expansion port. For the sockets that will be covered
with a Weidmuller connector (12C, RS232, and RSL), trim the pins of the socket as close to the
PCB as practical.

Install the PCB over the sockets. Use the RoboRIO as the fixture for holding the sockets.

Solder the PCB to the sockets.

Install the SMT fuses. Check continuity.

Install the SMT inductor. Check continuity.

Install the 7 SMT capacitors. It is recommended that proper installation of each capacitor be
checked as it is installed. To do this, remove the PCB from the RoboRIO and ensure that there is
NO continuity between +5V and GND after each capacitor is installed. If there is, there is a
problem with the capacitor installation and it must be checked.

Install the 2 SMT 2kOhm resistors for the power indication. Verify the quality of the connections
by using an Ohmmeter.

Install the 26 SMT 4020hm resistors for the DIO indicators. Verify the quality of the connections
by using an Ohmmeter.

Install the 2 SMT LEDs associated with the power supply. Verify that each LED works by using a
function generator.

Install the 26 SMT LEDs associated with the DIO indicators. Verify that each works by using a
function generator. Using the function generator through the pads for the ICs will maximize the
amount of wiring checked at the same time.

Install the 5 SMT ICs. It is suggested to solder one pin to hold the IC in position while the other
pins are soldered.

Install the 4 0.100” three-pin headers. A second breakout board can be used to help hold the
headers in place while soldering. It is recommended that only one pin be soldered each header
before checking alignment. Once the alignment is acceptable the other pins can be soldered.
For the Weidmuller connectors that cover sockets (the 12C, one R$232 and the RSL), it is
necessary to trim the plastic between the pins on the bottom side of the Weidmuller so that the
connecter sits flat on the PCB. The plastic is trimmed easily with a small pair of diagonal cutters.
It is also recommended that the pins from the sockets be trimmed to the extent possible before
installing the Weidmuller connectors.

Install the Weidmuller connectors. As with the headers, it is recommended that one pin on each
connector be soldered first so that the alignment can be checked before soldering the other
pins. This will allow you to catch any connectors that are inclined to shift from perpendicular to
the board.



—

{+5Y_Analpg

R11 < [r+5U
0. 1u n&>de WY vARIED
74AHCT
4+12U
J64
a0e o120
so———— G ] w03 40
so——@ ] o
50— Al5 4 o i Z Z
6o——<aGND |
7o1+—<ple | +5Y
g8 o—/— 13@012 '?/1\%@3 D125y [r
go—+—Q17___ ] 74AHCT N
100——GaRT Rk priey
11 o——<pioie | 365
teo—4—> DIO11 > o120
13 o_ o340
14 0——<UART. Tx- LM 0560
tso+——<qIot2 | 4 o780
16 0——
170 ————@mE ] -
1 180——=<oI1021 | R13402 p133 [r
19 o—<p1014__| W ™N
e o——P p+12v
21 o——— Q1015 _| J66
22 0| —(@Tozz ] .
2301016 ] w0240
240—1—D 0560
A L ST < s e
26 o——<p1023 |
N M— -
eso——D 3 4 Rl%eo D14 [r
29o—+—<pI019 | ?4QHCT®C i N
300 D> A+12v
31o—+——<pioee | J67
32 0o———<p1024 | DI013 >— o120
33 o_ o340
34 o—4——<p10e5 ] LM 0560
4 o7 80
UART-E UART-R SSLR
Jse J4 J3 326 J25
o120 UART. TX-E o120 o1 o120 O 1
0340 UART.RX-F 0340 o2 0340 o
D

RIS N [r+5U
521906 ez msm
74AHCT
4+12U
Jées
o120
A+S 0340
0560
< o780
+5V
9 @c 8 '31\%02 D16 [r
74AHCT N
4+18V
J69
o120
A+SY 0340
0560
< o7 80
1 1o "a02 D17 [r+5v
?4QHCT$H>C VWV N
4+12U
J70
o120
p+S 0340
0560
< 07 80
+5V
139&2 'f/l\%ea meﬁ [r
74AHCT
A+ley %4—40 screw
J71
P 4-40 screw
A+5V 0340 %6—38 screw
05 60 %6—32 screw
< 0780 6-32 screw
%6—38 screw
%6—38 screw
FRC 3044
RoboRIO Breakout Board
Rev 1.0
DAT 19,3,2015 Page 1




+oV +5Y
14 R19 & [r R23 & [r
L{aSo2 — ane2 Di9iA 11lsole AAe2 D23in
74AHCTRS 17 ™ 74AHCT N
+oV +5Y
PAAHCT N bAAHCT N SHAFT ENCODERS
DIo1e [pTozZ—>—
[_Dpro19 5 [DT0Z3 —
Jss +12V Js? ?+12v
1 0 o120 1 O o120
20 0340 20 | o340
3 o+ l 0560 3 0 0560
?+5v < o780 ?+5v < 0780
+ov +5Y
5 ot '?/8\}@@8 D21 S [r 'f/e\%@a 25 [r
74AHCT N N
+ov +5Y
2 lys>o0-8 fﬁj@@a pe2 31us>od fﬁ?@@a D26
F4AHCT N bAAHCT N
[DT02T [DT025
J86 ?+1ev J73 Jss ?+1av 7S
1 O+ o120 1 O o120
20 | 0340 20 | 0340
3 O 0560 3 O 0560
?‘FSV <} o7 80 ?"'SU q o7 80
?+5v BYPASS CAPACITORS
UNUSED GATES _J_ _J_
) 6 0. 101 0. 10] oo, 1] n@. 1] 20 1
74AHCT - 1ulc 18- Tulep¥. Ul c3d. Lulpq. LUl s
J 9 8 J7
74AHCT
J 11 10
74AHCT
J 13 12
74AHCT FRC 3044
v
RoboRIO Breakout Board
Rev 1.0
DAT Page 2

10-25-,2015




J76 Jv7e Analog Outputs from MXP
o120 A0D o120 Ao1
0340 l l 0340 l
AGND
J78 J79 Jso Js1 Analog Inputs to MXP
o120 Al4 o120 Als o120 Al6 | o120 AIz
0340 0340 03 40 o340 +5Y Analbg
0560 l f__0560__1 l 0560 l l 0560 l
AGND |
AIB-R AT1-R AI2-R AI3-R
J36 J35 J38 J37 J40 J39 J4e J41
o120 o1 o120 01 o120 o1 o120 01 Analog Inputs to RoboRIO
0340 02 0340 o2 0340 02 0340 o2
0560 I 03 0560 ] 03 [:—0560 I 03 [:—oseo ] 03
RO-R R1-R R2-R R3-R
Jes Jp7 J30 J29 J3e J31 J34 J33
o120 O 1 o120 O 1 o1 20 O 1 o120 O 1
Relay Outputs from RoboRIO
0340 o2 0340 02 0340 02 0340 02
05 60 ] O 3 0560 ] 0 3 |:—056O ] O 3 |:—056O ] 0 3
PLIMB-R PUM1-R PWM2-R PUM3-R PUM4-R
Jé2 J61 J60 J59 Jss J57 JSé6 J55 J54 J53
0120 1 o1 eo 1 0120 1 o120 1 o120 o1
o340 o2 0340 o2 0340 o2 0340 o2 o340 o2
(o] 0560 0 3
560 ] 0 3 |:—056O ] 0 3 |:—056O ] 0 3 0560 ] 0 3
PWM9-R
PWMS-R PWM6-R PWM?7-R PWM8-R
J44 J43
J52 J51 J50 J49 J48 47 J46 J45 o120 o1
o120 O 1 o120 O 1 o120 O 1 o120 O 1 o340 2
0340 o2 0340 02 0340 02 0340 o2 0560 03
0560 03 0560 03 0560 03 0560 03 | I
RoboRIO Breakout Board
DAT Rev 1.0 P 3
1032015 age




+35Y

DI0BO +5¢ +5V +5V
14 R1 R RS 5 R9 19
LrSo2 goz 1 11,7010 A2 1 5 {>>06 ANEE 11
P4AHCTOS(7 N 74AHCT N 74AHCT N
4+1av 4+1av 4+12v
J6 Ji4 Jee
35 o120 DIOe4 213 o120 DIOes 21 o120
4+5v——o1 0340 4+57_°1 o340 4+5v——o1 0340
O 2 0560 O 2 0560 O 2 0560
4 03 o7 80 < 03 o7 80 4 03 o780
. < [r+5v +5V R10 N +5V
D2,
DIOB1 3|0t Aiee % 9 [ >>08 Afe2 Die
74AHCT 74AHCT
4+12V 4+12U 4+12U
J8 J16 Je4d
J7 o120 DIO@S JiS o120 DIO@g Je3 oi1eo0
L1o1 0340 L1+o01 o340 L1o1 0340
+5V +5V +5V
A O 2 0560 A O 2 0560 A O 2 0560
< 0 3 o7 80 < 0 3 o7 80 < 0 3 o7 80
+5V +5V
DI0@2 Dage e oty % e oy | 1ec
74AHCT N N
A+12v A+12v J2 J1
Jie J18 o120 o1
J9 o120 DIO@6 Ji? o120 o340 o2
4‘“5“’_—01 0340 A+5v——o1 o340 0560 03
O 2 0560 02 05 60 —Oo7 80 0 4
< 03 o780 < 03 o7 80 M
+12V
+3v +5Y 12Y Power
R4 R8 SA SA
DIOG3 9 [ ot 402 DA [r 3[04 S e e [r F1 F2
74AHCT N 74AHCT N
4+18V 4+18V Js3 o7 28
Ji2 Jeo o120 Der >k Des >k
DIO@? i
I1 o120 19 o120 Incoming Power 0340 & N
A0t 0340 e 0340 ™
o2 0560 o2 0560 Js4 N.B. The negative side does
<l| 03 o780 <} °3 o780 o120 not get connected to ground
To RoboRIO o340 through the breakout board,
or ground loops could result.

FRC 3044

RoboRIO Breakout Board

DAT

Rev 1.0

10-3/2015

Page 4




O

O

S

W — (31
MTI1T1T11
EEXREX
T[0Tl
O \mww:,@
b1 T Tl

o
j §
::3

H

O
=

g o

Mo
y [o}
o

V4 o}
N\
o Q0

OO
000 OOnoo
090 090

o o
0O O O O

ONONONONONOLO

Hcg mn

d———ﬂ

I

=

b

_ﬂ;

Ol

O=——mmm

:ﬁ_/‘a‘—‘
0 o

qou
O ooo0oO o0oO0OO O

O'D ocoong o

e 7~

O OO0OO0OO0O OO

onocooong o

©)

R

(ONN®

o—o°°
O B

g OO0 o0An0 O(\ODD

Z]

l—Oo..._.‘i O= n—i 10 O== »—i

Ol Qe ER=0O

g_-°_-:° ‘O-In—li O-II—lI-OO-gI—I
~ N

oooo©O
OO

(ONNO)
a

w%=

0.0
qu

(ON©)]

)

OO DO DO Dm0 [0O0—O0 0—O0 O—O0 O—O

o‘aﬁ\a"\a\)

OO

=0

WL

OO0 O

O ONONONONONONORORNONO,

\%Jédos-h:
)

—00Q00000 3?

ym
O

OO OO OO

a
o
o

D0
a a
(o] (o]
(o} (o]

a
o
o

a
o
o

0—Q O—0

a
o
o

44

a
o
o

a
o
o

e __OoNo __ONO __ONO _OlNe _OoN6 _oN6 _oNO 0
e __OoNO __ONO __ONO __OlNe __OoN6 __oN6 __oNO 0

OO O O O0O0

g o[ o

H\Q

OO O0O0OO0O OO0 O

O



David
Text Box
Top Copper


O OO0OO0O0O0OO00O0O0

O ONONONONONONORONONO

O OO0OO0O0O0 OO0 O

O

O



David
Text Box
Bottom Copper


aNd
NE'E

13s
vas

AND
1N0
net

AND
NI

LA

N3

axa
axli

|1

POWER

RS232

DIO1@

FRC3044 OXBE4
s» REV 1.0 12/23/2015

[I]EEE

DIO18,

OId

IRINININIRININIRIN

aN3

DIOO

21010

aNd

NS
S

601d

nel

RSL

[] S
GND

19

12V

SV
12V

SV
12V

SV
1ev

SV

[ US g [ U4 g | U3 g | U2 g [ UL g

1

EFE

AOB AO1

Al4

GND

(. ANALOG 0OUT -

GND

RELAY

RNyl

ANALOG IN

Silkscreen
DIO1@ DIOI8, 19 o
0] 01 5 —
s Rl 1
CJC1 CJC3
CIC1 &IC] 1]
aTY IY
CIC1 L]
Y o B ] ]
aTY IY
CJC1 CJC]
CIC]1 &IC] I
aTY IY
DIO17 DIO24, 25
Y L1
p
Z =
X %
ﬁCCELEROMETER
Cé6
= —
AlI?
S 1]
5V
GND | I
S
SV % L____J
GND & o 32
:} AI3



David
Text Box
Silkscreen


aNd
NE'E

13s

vas

N3
axy
axli

XXX | Sl
W W ;':;'ng E s« REV 1.0 12/23/2015

OId

® FRC3044 OXBE4 @

Silkscreen and pads

ﬂ

PWMO

ﬂ

R

PWM9

RO

®|s
s B

oo
¢ow POWER  [1%" == IF!
mERSESB ==
& 0 0 DI1010 DI1018, 19 ==
Dmaz"j ® o 0N E\lav = I I;IOE] DIOi@ DIO1S,
-'LI'-EIF8 11
o0 o0 o0jeoe e o9y Z=|I= T
mooo oo oo W me == roed
E =Ll= E=[
oom ‘oooo © 00 0|05y oL EHGG
® =[[= ax
OOH ¢ ¢ 0 00 0 0 0lle 00 elos, =LI= E= i
4 =|x|= o
moooo o0 ollee e el|®sy == EIE
0D 3U w D =Ll - E= a1
g % ::u'::MFS TXY -
mooooH:ooo D1024, 23 = [o|= A
e it = DIOS
(XY | H ===
o0 0000 oo 33
XY | j f f :Hf j f : 0000000000000 00O0CR
00000000000000000
© 0000000 A0G  AOD1 Al4
(XY | o S ° om om
ec0o0eloee el GND/® ° oo oo
mjg% w@ L"anaLoc out - oe ol
o000 FWD om ° om om
(XY [ m g ® REvE olle ElF ElE QE oo oo
\é’ cNoj@  ofle ° ° °
oy o~-leeee

505,00

PWM

S
6V
GND

°
RELAY ANALOG IN



David
Text Box
Silkscreen and pads




